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Proposition 5.1.

In[1]:= F1 := c0 x^2 + c2 y^2 + d0 x^3 + d1 x^2 y + d2 x y^2 +

d3 y^3 + e0 x^4 + e1 x^3 y + e2 x^2 y^2 + e3 x y^3 + e4 y^4

In[2]:= F2 := g11 x^2 + g22 y^2 + g33 z^2 + 2 g31 x z + 2 g32 y z +

2 Hx^2 + y^2 + z^2L Hb1 x + b2 y + b3 zL + a Hx^2 + y^2 + z^2L^2

In[3]:= Coefficient@F2 �. 8z ® F1<, x^2D �. 8x ® 0, y ® 0<

Out[3]= g11

In[4]:= Coefficient@F2 �. 8z ® F1<, y^2D �. 8x ® 0, y ® 0<

Out[4]= g22

In[5]:= Coefficient@F2 �. 8z ® F1<, x^3D �. 8x ® 0, y ® 0<

Out[5]= 2 b1 + 2 c0 g31

In[6]:= Coefficient@F2 �. 8z ® F1<, x^2 yD �. 8x ® 0, y ® 0<

Out[6]=
1

2
H4 b2 + 4 c0 g32L

In[7]:= Coefficient@F2 �. 8z ® F1<, x y^2D �. 8x ® 0, y ® 0<

Out[7]=
1

2
H4 b1 + 4 c2 g31L

In[8]:= Coefficient@F2 �. 8z ® F1<, y^3D �. 8x ® 0, y ® 0<

Out[8]= 2 b2 + 2 c2 g32

In[9]:= Coefficient@F2 �. 8z ® F1<, x^4D �. 8x ® 0, y ® 0<

Out[9]= a + 2 b3 c0 + 2 d0 g31 + c02 g33

In[10]:= Coefficient@F2 �. 8z ® F1<, x^3 yD �. 8x ® 0, y ® 0<

Out[10]=
1

6
H12 d1 g31 + 12 d0 g32L

In[11]:= Coefficient@F2 �. 8z ® F1<, x^2 y^2D �. 8x ® 0, y ® 0<

Out[11]=
1

4
H8 a + 8 b3 c0 + 8 b3 c2 + 8 d2 g31 + 8 d1 g32 + 8 c0 c2 g33L

In[12]:= Coefficient@F2 �. 8z ® F1<, x y^3D �. 8x ® 0, y ® 0<

Out[12]=
1

6
H12 d3 g31 + 12 d2 g32L

In[13]:= Coefficient@F2 �. 8z ® F1<, y^4D �. 8x ® 0, y ® 0<

Out[13]= a + 2 b3 c2 + 2 d3 g32 + c22 g33

In[14]:= SolveB:d0 == 2 b1 + 2 c0 g31, d2 ==
1

2
H4 b1 + 4 c2 g31L>, 8g31, b1<F

Out[14]= ::g31 ® -
-d0 + d2

2 Hc0 - c2L
, b1 ® -

c2 d0 - c0 d2

2 Hc0 - c2L
>>



In[15]:= SolveB:d1 ==
1

2
H4 b2 + 4 c0 g32L, d3 == 2 b2 + 2 c2 g32>, 8g32, b2<F

Out[15]= ::g32 ® -
-d1 + d3

2 Hc0 - c2L
, b2 ® -

c2 d1 - c0 d3

2 Hc0 - c2L
>>

e1 is

In[16]:= SimplifyB
1

6
H12 d1 g31 + 12 d0 g32L �. :g31 ® -

-d0 + d2

2 Hc0 - c2L
, g32 ® -

-d1 + d3

2 Hc0 - c2L
>F

Out[16]= -
d1 d2 + d0 H-2 d1 + d3L

c0 - c2

e3 is

In[17]:= SimplifyB
1

6
H12 d3 g31 + 12 d2 g32L �. :g31 ® -

-d0 + d2

2 Hc0 - c2L
, g32 ® -

-d1 + d3

2 Hc0 - c2L
>F

Out[17]=
d1 d2 + d0 d3 - 2 d2 d3

c0 - c2

In[18]:= SolveB:e0 == a + 2 b3 c0 + 2 d0 g31 + c02 g33,

e2 ==
1

4
H8 a + 8 b3 c0 + 8 b3 c2 + 8 d2 g31 + 8 d1 g32 + 8 c0 c2 g33L,

e4 == a + 2 b3 c2 + 2 d3 g32 + c22 g33> �.

:g31 ® -
-d0 + d2

2 Hc0 - c2L
, g32 ® -

-d1 + d3

2 Hc0 - c2L
>, 8g33, b3, a<F

Out[18]= ::g33 ® -
1

Hc0 - c2L3

Id02
- d12

- 2 d0 d2 + d22
+ 2 d1 d3 - d32

- c0 e0 + c2 e0 + c0 e2 - c2 e2 - c0 e4 + c2 e4M,

b3 ® -
1

2 Hc0 - c2L3
I-2 c2 d02

+ c0 d12
+ c2 d12

+ c0 d0 d2 + 3 c2 d0 d2 -

c0 d22
- c2 d22

- 3 c0 d1 d3 - c2 d1 d3 + 2 c0 d32
+ 2 c0 c2 e0 -

2 c22 e0 - c02 e2 + c22 e2 + 2 c02 e4 - 2 c0 c2 e4M,

a ® -
1

Hc0 - c2L3
Ic22 d02

- c0 c2 d12
- c0 c2 d0 d2 - c22 d0 d2 + c0 c2 d22

+ c02 d1 d3 +

c0 c2 d1 d3 - c02 d32
- c0 c22 e0 + c23 e0 + c02 c2 e2 - c0 c22 e2 - c03 e4 + c02 c2 e4M>>

Proposition 5.2.

In[19]:= P@T_D := -d02 + I-4 c04 + 4 c03 c2 - 6 d02 + d12 + 2 d0 d2 + 4 c0 e0 - 4 c2 e0M T2 +

H-8 d0 d1 + 4 d1 d2 + 4 d0 d3 + 4 c0 e1 - 4 c2 e1L T3 +

I-12 c03 c2 + 12 c02 c22 - 5 d02 - 2 d12 - 4 d0 d2 + 3 d22 + 6 d1 d3 + 4 c0 e0 - 4 c2 e0 +

4 c0 e2 - 4 c2 e2M T4 + H-8 d0 d1 + 8 d2 d3 + 4 c0 e1 - 4 c2 e1 + 4 c0 e3 - 4 c2 e3L T5 +

I-12 c02 c22 + 12 c0 c23 - 3 d12 - 6 d0 d2 + 2 d22 + 4 d1 d3 + 5 d32 + 4 c0 e2 - 4 c2 e2 +

4 c0 e4 - 4 c2 e4M T6 + H-4 d1 d2 - 4 d0 d3 + 8 d2 d3 + 4 c0 e3 - 4 c2 e3L T7 +

I-4 c0 c23 + 4 c24 - d22 - 2 d1 d3 + 6 d32 + 4 c0 e4 - 4 c2 e4M T8 + d32 T10
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In[20]:= Collect@P@tD �. 8e1 ® H2 d0 d1 - d1 d2 - d0 d3L � Hc0 - c2L,
e3 -> H2 d2 d3 - d1 d2 - d0 d3L � Hc2 - c0L<, t, SimplifyD

Out[20]= -d02
+ I-4 c04

+ 4 c03 c2 - 6 d02
+ d12

+ 2 d0 d2 + 4 c0 e0 - 4 c2 e0M t2
+

I-12 c03 c2 + 12 c02 c22
- 5 d02

- 2 d12
- 4 d0 d2 +

3 d22
+ 6 d1 d3 - 4 c2 e0 - 4 c2 e2 + 4 c0 He0 + e2LM t4

+

I-12 c02 c22
- 3 d12

- 6 d0 d2 + 2 d22
+ 4 d1 d3 + 5 d32

- 4 c2 e2 -

4 c2 e4 + 4 c0 I3 c23
+ e2 + e4MM t6

+

I-4 c0 c23
+ 4 c24

- d22
- 2 d1 d3 + 6 d32

+ 4 c0 e4 - 4 c2 e4M t8
+ d32 t10

Example 5.3.

In[21]:= Solve@Hx^2 + y^2 + z^2L^2 - 2 a x^2 - 2 b y^2 - 2 c z^2 + d^2 � 0, zD

Out[21]= 99z ® -
,Ic - x2

- y2
-

,Ic2
- d2

+ 2 a x2
- 2 c x2

+ 2 b y2
- 2 c y2MM=,

9z ®
,Ic - x2

- y2
-

,Ic2
- d2

+ 2 a x2
- 2 c x2

+ 2 b y2
- 2 c y2MM=,

9z ® -
,Ic - x2

- y2
+

,Ic2
- d2

+ 2 a x2
- 2 c x2

+ 2 b y2
- 2 c y2MM=,

9z ®
,Ic - x2

- y2
+

,Ic2
- d2

+ 2 a x2
- 2 c x2

+ 2 b y2
- 2 c y2MM==

In[22]:= SeriesB 1 + 2 t , 8t, 0, 2<F

Out[22]= 1 + t -
t2

2
+ O@tD3

In[23]:= SeriesB 1 + t , 8t, 0, 2<F

Out[23]= 1 +
t

2
-

t2

8
+ O@tD3

In[24]:= F3@x_, y_D := s2 ,Ic - x^2 - y^2 + s1 L ,H1 + 1 � L^2 H2 Ha - cL x^2 + 2 Hb - cL y^2LLM

c0 is

In[25]:= Simplify@D@F3@x, yD, 8x, 2<D � 2 �. 8x ® 0, y ® 0<D

Out[25]= -
HL + H-a + cL s1L s2

2 L c + L s1

c2 is

In[26]:= Simplify@D@F3@x, yD, 8y, 2<D � 2 �. 8x ® 0, y ® 0<D

Out[26]= -
HL + H-b + cL s1L s2

2 L c + L s1

c0 - c2 is

In[27]:= SimplifyB-
HL + H-a + cL s1L s2

2 L c + L s1
- -

HL + H-b + cL s1L s2

2 L c + L s1
F

Out[27]=
Ha - bL s1 s2

2 L c + L s1

e0 is
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In[28]:= Simplify@D@F3@x, yD, 8x, 4<D � 24 �. 8x ® 0, y ® 0, s1 ® 1<D

Out[28]= II-2 Ha - cL2 Hc + LL - L H-a + c + LL2M s2M � I8 L3 Hc + LL3�2M

In[29]:= Simplify@D@F3@x, yD, 8x, 4<D � 24 �. 8x ® 0, y ® 0, s1 ® -1<D

Out[29]=

I2 Ha - cL2 Hc - LL - L Ha - c + LL2M s2

8 Hc - LL3�2 L3

e2 is

In[30]:= Simplify@D@D@F3@x, yD, 8x, 2<D � 4, 8y, 2<D �. 8x ® 0, y ® 0, s1 ® 1<D

Out[30]= -
1

4 L3 Hc + LL3�2
Ia I2 b c - 2 c2

+ 3 b L - 3 c L - L2M + Hc + LL I2 c2
+ c L + L2

- b H2 c + LLMM s2

In[31]:= Simplify@D@D@F3@x, yD, 8x, 2<D � 4, 8y, 2<D �. 8x ® 0, y ® 0, s1 ® -1<D

Out[31]=
1

4 Hc - LL3�2 L3
Ia I2 b c - 2 c2

- 3 b L + 3 c L - L2M + Hc - LL I2 c2
- c L + L2

+ b H-2 c + LLMM s2

In[32]:= ExpandA-2 Ha - cL Hb - cL Hc + LL - L Ha - c - LL Hb - c - LL +

Ia I2 b c - 2 c2 + 3 b L - 3 c L - L2M + Hc + LL I2 c2 + c L + L2 - b H2 c + LLMME

Out[32]= 0

e4 is

In[33]:= Simplify@D@F3@x, yD, 8y, 4<D � 24 �. 8x ® 0, y ® 0, s1 ® 1<D

Out[33]= II-2 Hb - cL2 Hc + LL - L H-b + c + LL2M s2M � I8 L3 Hc + LL3�2M

In[34]:= Simplify@D@F3@x, yD, 8y, 4<D � 24 �. 8x ® 0, y ® 0, s1 ® -1<D

Out[34]=

I2 Hb - cL2 Hc - LL - L Hb - c + LL2M s2

8 Hc - LL3�2 L3

In[35]:= Q@t_D := Ht^2 + 1L He0 + e2 t^2 + e4 t^4L - Hc0 + c2 t^2L^3 �.

:c0 -> -
HL + H-a + cL s1L s2

2 L c + L s1
, c2 -> -

HL + H-b + cL s1L s2

2 L c + L s1
,

e0 -> II-2 s1 Ha - cL2 Hc + L s1L - L H-a + c + L s1L2M s2M � I8 L3 Hc + L s1L3�2M, e2 ->

1

4 L3 Hc + L s1L3�2
H-2 s1 Ha - cL Hb - cL Hc + s1 LL - L Ha - c - L s1L Hb - c - L s1LL s2,

e4 -> II-2 s1 Hb - cL2 Hc + L s1L - L H-b + c + L s1L2M s2M � I8 L3 Hc + L s1L3�2M>

In[36]:= FactorBQ@tD �. :s1 ® 1, s2 ® 1, L ® c^2 - d^2 >F

Out[36]= II-a + c - b t2
+ c t2M Ia - d + b t2

- d t2M Ia + d + b t2
+ d t2MM �

8 Ic2
- d2M

3�2
c + c2

- d2
3�2

4   check-fifth2.nb



In[37]:= FactorBQ@tD �. :s1 ® -1, s2 ® 1, L ® c^2 - d^2 >F

Out[37]= -II-a + c - b t2
+ c t2M Ia - d + b t2

- d t2M Ia + d + b t2
+ d t2MM �

8 Ic2
- d2M

3�2
c - c2

- d2
3�2

In[38]:= FactorBQ@tD �. :s1 ® 1, s2 ® -1, L ® c^2 - d^2 >F

Out[38]= -II-a + c - b t2
+ c t2M Ia - d + b t2

- d t2M Ia + d + b t2
+ d t2MM �

8 Ic2
- d2M

3�2
c + c2

- d2
3�2

In[39]:= FactorBQ@tD �. :s1 ® -1, s2 ® -1, L ® c^2 - d^2 >F

Out[39]= II-a + c - b t2
+ c t2M Ia - d + b t2

- d t2M Ia + d + b t2
+ d t2MM �

8 Ic2
- d2M

3�2
c - c2

- d2
3�2

Proof of Theorem 2.10.

In[40]:= NT := -5 RT KT^2 ET1 HRT DT - 2 Hb T + aL CT^2L + DT^3 RT B1 + 2 DT^2 DT1 RT^2 B2 -

DT^2 RT^2 KT HH3 d3 T + d2L H5 RT - Hb^2 + 1L T^2L + Hd1 T + 3 d0L Hb^2 + 1LL +

DT^2 B3 + 2 Hb T + aL DT DT1 RT CT B4 + 10 Hb T + aL DT DT2 RT^2 KT CT^2 +

DT B5 - 4 Hb T + aL DT1 RT KT CT^3 H5 Hb T + aL CT1 + 2 b CTL +

4 Hb T + aL CT^4 KT H3 d0 B6 + d1 B7 + d2 B8 - 3 d3 T B9L + 4 CT^4 B10

In[41]:= B1 := KT H42 Hb^2 + 1L RT - 20 Ha^2 + b^2 + 1LL -

4 c2 RT H3 a b RT - 2 Ha^2 + b^2 + 1 - a^2 b^2L T + 2 a b Ha^2 + 1LL +

2 Hb^2 + 1L c1 RT H3 RT + 4 a b T + 4 a^2 + 4L - 4 Hb^2 + 1L RT RT1 c0

In[42]:= B2 := -H4 Hb^2 + 1L T + 5 a bL KT - HHb^2 + 1L T^2 + a^2 + 1L KT1 +

4 Ha^2 + 1L Hb^2 + 1L CT - 2 HHa^2 + 1L c2 + Hb^2 + 1L c0L RT

In[43]:= B3 := KT^2 H-4 a RT CT1 + 12 Hb^2 + 1L Hb T + aL T CT +

8 a b Hb T + aL CT + 12 b RT CT + 2 b RT H2 c0 + c1 TLL +

KT KT1 H4 a b T Hb T + aL CT - 12 Hb T + aL RT CT + b T RT H2 c0 + c1 TL + a T RT CT1L +

KT H-4 a Hb^2 + 6L RT CT^2 - H18 Hb^2 + 1L T Hb T + aL + 16 a b Hb T + aL - 4 b Ha^2 + 1LL
RT CT CT1 + 8 Ha^2 + 1L Hb^2 + 1L Hb T + aL CT^2 -

8 Hb T + aL HHa^2 + 1L c2 + Hb^2 + 1L c0L RT CT + 4 a b T Hb c1 - 2 a c2L RT CT +

4 a Hb^2 + 1L H2 c0 + c1 TL RT CT - 2 a c2 H2 c0 + c1 TL RT^2 - 2 b c0 CT1 RT^2 -

12 Hb^2 + 1L Hb T + aL T RT1 CT^2 - 8 a b Hb T + aL RT1 CT^2 - 4 Hb T + aL RT RT1 CT CT1 +

4 b RT RT1 CT^2 - 4 Hb T + aL RT^2 CT1^2 - 8 c2 Hb T + aL RT^2 CT + 4 b RT^2 CT CT1L -

2 Hb T + aL KT1 CT H2 a b T RT1 CT + 5 RT1 RT CT + 6 RT^2 CT1L -

4 Hb T + aL KT2 RT CT^2 HRT + a b TL -

8 Ha^2 + 1L Hb^2 + 1L Hb T + aL RT1 CT^3 +

8 Hb T + aL HHa^2 + 1L c2 + Hb^2 + 1L c0L RT RT1 CT^2 -

8 Ha^2 + 1L Hb^2 + 1L Hb T + aL RT CT^2 CT1

In[44]:= B4 := 2 H3 Hb^2 + 1L T + 5 a bL KT CT + 5 RT KT CT1 + 2 HHb^2 + 1L T^2 + a^2 + 1L KT1 CT -

8 Ha^2 + 1L Hb^2 + 1L CT^2 + 4 RT CT HHa^2 + 1L c2 + Hb^2 + 1L c0L
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In[45]:= B5 := 9 CT^2 KT^3 + KT^2 CT^2 H6 RT1 CT + 4 RT CT1 + 8 b Hb T + aL CT - 8 Hb T + aL^2 CT1L -

8 Hb T + aL^2 KT KT1 CT^3 +

KT CT^2 H-8 Hb T + aL Hb c1 - 2 a c2L RT CT - 8 b Hb T + aL RT CT1 CT + 8 b^2 RT CT^2 -

4 b Hb T + aL RT CT CT1 - 48 Hb T + aL^2 CT HHa^2 - 1L c2 + Hb^2 + 1L c0L +

24 a c1 Hb T + aL RT1 CT - 48 Hb T + aL CT H2 a Hc2 - c0L - b c1L +

12 Hb T + aL^2 RT CT1^2 - 8 b Hb T + aL RT1 CT^2 + 8 Hb T + aL^2 RT1 CT CT1 +

16 c2 Hb T + aL^2 RT CT - 8 b Hb T + aL RT CT CT1L +

8 Hb T + aL^2 KT1 CT^3 HRT1 CT + 3 RT CT1L + 8 Hb T + aL^2 RT CT^4 KT2 -

16 b Hb T + aL RT CT^4 HHa^2 - 1L c2 + Hb^2 + 1L c0L -

32 Hb T + aL^2 RT CT^3 CT1 HHa^2 - 1L c2 + Hb^2 + 1L c0L +

16 a Hb T + aL RT RT1 c1 CT^3 CT1 + 4 a b RT RT1 c1 CT^4 +

8 a Hb^2 + 1L Hb T + aL RT c1 CT^4 - 8 b RT CT^4 H2 a Hc2 - c0L - b c1L -

32 Hb T + aL RT CT^3 CT1 H2 a Hc2 - c0L - b c1L

In[46]:= B6 := -Hb^2 + 1L Hb T + aL + 2 a

In[47]:= B7 := -Hb^2 + 1L T Hb T + aL + a RT1 + 2 Ha T + bL

In[48]:= B8 := -Ha^2 - 3L Hb T + aL + a T RT1 - 4 a - 4 Hb T + aL RT

In[49]:= B9 := Ha^2 - 1L Hb T + aL + 2 a + 4 Hb T + aL RT

In[50]:= B10 := KT^2 H2 b CT - 4 Hb T + aL CT1L - 2 Hb T + aL CT KT KT1 +

KT Ha RT1 c1 CT - 4 Hb T + aL CT HHa^2 - 1L c2 + Hb^2 + 1L c0L - 4 a Hc2 - c0L CT +

2 b c1 CT - 2 a Hb T + aL^2 c2 H2 c0 + c1 TL - 2 b Hb T + aL^2 c0 CT1 +

2 a b Hb T + aL c1 CT + a Hb T + aL^2 c1 CT1 + H1 � 2L Hb T + aL RT1 c1 H2 c0 + c1 TL -

2 Hb T + aL Hc2 - c0L H2 c0 + c1 TL + Hb T + aL c1 CT1L +

8 b Hb T + aL^2 HHa^2 - 1L c2 + Hb^2 + 1L c0L CT^2 +

16 Hb T + aL^3 CT CT1 HHa^2 - 1L c2 + Hb^2 + 1L c0L -

8 a Hb T + aL^2 RT1 c1 CT CT1 - 2 a b Hb T + aL RT1 c1 CT^2 -

4 a Hb^2 + 1L Hb T + aL^2 c1 CT^2 + 4 b Hb T + aL CT^2 H2 a Hc2 - c0L - b c1L +

16 Hb T + aL^2 CT CT1 H2 a Hc2 - c0L - b c1L

In[51]:= AT1 := 8-HT^2 + 1L^2 ET1 + 2 T CT^2 H2 CT + c0 - c2L< H4 ET - T ET1L +

4 c0 CT^2 8HT^2 + 1L ET1 - 4 c2 T CT^2<

In[52]:= AT2 := ET1 8-HT^2 + 1L^2 ET1 + 2 T CT^2 H2 CT + c0 - c2L< +

4 c2 T CT^2 8HT^2 + 1L ET1 - 4 c2 T CT^2<

In[53]:= NTR := 20 Hc0 - c2L^2 T^2 HAT1 x + AT2 yL

In[54]:= M := 88NT - NTR �. 8KT -> RT1 CT - RT CT1,
KT1 -> 2 Hb^2 + 1L CT - 2 c2 RT, KT2 -> 2 Hb^2 + 1L CT1 - 2 c2 RT1<< �.

8RT -> Hb^2 + 1L T^2 + 2 a b T + a^2 + 1, RT1 -> 2 Hb^2 + 1L T + 2 a b,
RT2 -> 2 Hb^2 + 1L, CT -> c0 + c1 T + c2 T^2, CT1 -> c1 + 2 c2 T, CT2 -> 2 c2,
DT -> d0 + d1 T + d2 T^2 + d3 T^3, DT1 -> d1 + 2 T d2 + 3 d3 T^2, DT2 -> 2 d2 + 6 d3 T,
ET1 ® e1 + 2 e2 T + 3 e3 T^2 + 4 e4 T^3, ET ® e0 + e1 T + e2 T^2 + e3 T^3 + e4 T^4<< �.

8a ® 2 c0 x, b ® 2 c2 y, c1 ® 0, d0 ® 4 e0 x + e1 y, d1 ® 3 e1 x + 2 e2 y,
d2 ® 2 e2 x + 3 e3 y, d3 ® e3 x + 4 e4 y<

In[55]:= Simplify@M �. 8x ® 0, y ® 0<D

Out[55]= 8880<<<

In[56]:= Simplify@Coefficient@M, x, 1D �. 8y ® 0<D

Out[56]= 8880<<<

In[57]:= Simplify@Coefficient@M, y, 1D �. 8x ® 0<D

Out[57]= 8880<<<
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For AT = AT1 � H2 Hc0 - c2LL

In[58]:= q0 := e0 - c0^3

In[59]:= q1 := e1

In[60]:= q2 := e2 + e0 - 3 c0^2 c2

In[61]:= q3 := e3 + e1

In[62]:= q4 := e4 + e2 - 3 c0 c2^2

In[63]:= q5 := e3

In[64]:= q6 := e4 - c2^3

In[65]:= ga01 := -q1 � q0

In[66]:= ga11 := -q2 � q0

In[67]:= ga21 := -q3 � q0

In[68]:= ga31 := -q4 � q0

In[69]:= ga41 := -q5 � q0

In[70]:= ga51 := -q6 � q0

In[71]:= ga02 :=

-Hq1 + q2 ä + q3 ä^2 + q4 ä^3 + q5 ä^4 + q6 ä^5L � Hq0 - q2 + q4 - q6 + Hq1 - q3 + q5L äL

In[72]:= ga12 := -
q2 + q3 ä + q4 ä^2 + q5 ä^3 + q6 ä^4

q0 - q2 + q4 - q6 + Hq1 - q3 + q5L ä

In[73]:= ga22 := -
q3 + q4 ä + q5 ä^2 + q6 ä^3

q0 - q2 + q4 - q6 + Hq1 - q3 + q5L ä

In[74]:= ga32 := -
q4 + q5 ä + q6 ä^2

q0 - q2 + q4 - q6 + Hq1 - q3 + q5L ä

In[75]:= ga42 := -
q5 + q6 ä

q0 - q2 + q4 - q6 + Hq1 - q3 + q5L ä

In[76]:= ga52 := -
q6

q0 - q2 + q4 - q6 + Hq1 - q3 + q5L ä

In[77]:= ga03 :=

-Hq1 - q2 ä + q3 ä^2 - q4 ä^3 + q5 ä^4 - q6 ä^5L � Hq0 - q2 + q4 - q6 - Hq1 - q3 + q5L äL

In[78]:= ga13 := -
q2 - q3 ä + q4 ä^2 - q5 ä^3 + q6 ä^4

q0 - q2 + q4 - q6 - Hq1 - q3 + q5L ä

In[79]:= ga23 := -
q3 - q4 ä + q5 ä^2 - q6 ä^3

q0 - q2 + q4 - q6 - Hq1 - q3 + q5L ä

In[80]:= ga33 := -
q4 - q5 ä + q6 ä^2

q0 - q2 + q4 - q6 - Hq1 - q3 + q5L ä

In[81]:= ga43 := -
q5 - q6 ä

q0 - q2 + q4 - q6 - Hq1 - q3 + q5L ä
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In[82]:= ga53 := -
q6

q0 - q2 + q4 - q6 - Hq1 - q3 + q5L ä

In[83]:= A1 := HAT1 �. 8CT -> c0 + c2 T^2,
ET1 ® e1 + 2 e2 T + 3 e3 T^2 + 4 e4 T^3, ET ® e0 + e1 T + e2 T^2 + e3 T^3 + e4 T^4<L

In[84]:= A2 := HAT2 �. 8CT -> c0 + c2 T^2,
ET1 ® e1 + 2 e2 T + 3 e3 T^2 + 4 e4 T^3, ET ® e0 + e1 T + e2 T^2 + e3 T^3 + e4 T^4<L

In[85]:= b11 := HA1 �. 8T ® 0<L � H2 Hc0 - c2LL

In[86]:= b12 := -HA1 �. 8T ® ä<L � H4 Hc0 - c2LL

In[87]:= b13 := -HA1 �. 8T ® -ä<L � H4 Hc0 - c2LL

In[88]:= b21 := HA2 �. 8T ® 0<L � H2 Hc0 - c2LL

In[89]:= b22 := -HA2 �. 8T ® ä<L � H4 Hc0 - c2LL

In[90]:= b23 := -HA2 �. 8T ® -ä<L � H4 Hc0 - c2LL

In[91]:= BT1 := HA1 �. 8T ® t<L � H2 Hc0 - c2L t Ht^2 + 1LL - b11 � t - b12 � Ht - äL - b13 � Ht + äL

In[92]:= BT2 := HA2 �. 8T ® t<L � H2 Hc0 - c2L t Ht^2 + 1LL - b21 � t - b22 � Ht - äL - b23 � Ht + äL

In[93]:= Cancel@Simplify@BT1DD

Out[93]= :
1

2 Hc0 - c2L

I-64 c04 c22
+ 96 c03 c23

- 64 c02 c24
+ 16 c0 c25

+ 64 c02 c2 e0 - 72 c0 c22 e0 + 24 c23 e0 -

3 e12
+ 20 c03 e2 - 36 c02 c2 e2 + 36 c0 c22 e2 - 12 c23 e2 - 8 e0 e2 + 56 c02 c2 e1 t -

54 c0 c22 e1 t + 18 c23 e1 t - 4 e0 e1 t - 8 e1 e2 t + 18 c03 e3 t - 18 c02 c2 e3 t +

18 c0 c22 e3 t - 6 c23 e3 t - 12 e0 e3 t - 96 c03 c23 t2
+ 64 c02 c24 t2

- 16 c0 c25 t2
+

56 c0 c22 e0 t2
- 24 c23 e0 t2

- 3 e12 t2
+ 48 c02 c2 e2 t2

- 36 c0 c22 e2 t2
+ 12 c23 e2 t2

-

8 e0 e2 t2
- 4 e22 t2

- 10 e1 e3 t2
+ 16 c03 e4 t2

- 16 e0 e4 t2
+ 46 c0 c22 e1 t3

-

18 c23 e1 t3
- 8 e1 e2 t3

+ 40 c02 c2 e3 t3
- 18 c0 c22 e3 t3

+ 6 c23 e3 t3
- 12 e0 e3 t3

-

8 e2 e3 t3
- 12 e1 e4 t3

- 64 c02 c24 t4
+ 16 c0 c25 t4

+ 16 c23 e0 t4
+ 36 c0 c22 e2 t4

-

12 c23 e2 t4
- 4 e22 t4

- 10 e1 e3 t4
- 3 e32 t4

+ 32 c02 c2 e4 t4
- 16 e0 e4 t4

- 8 e2 e4 t4
+

12 c23 e1 t5
+ 26 c0 c22 e3 t5

- 6 c23 e3 t5
- 8 e2 e3 t5

- 12 e1 e4 t5
- 4 e3 e4 t5

-

16 c0 c25 t6
+ 8 c23 e2 t6

- 3 e32 t6
+ 16 c0 c22 e4 t6

- 8 e2 e4 t6
+ 4 c23 e3 t7

- 4 e3 e4 t7M>
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In[94]:= Rem1 := PolynomialRemainderB

1

2 Hc0 - c2L
I-64 c04 c22 + 96 c03 c23 - 64 c02 c24 + 16 c0 c25 + 64 c02 c2 e0 -

72 c0 c22 e0 + 24 c23 e0 - 3 e12 + 20 c03 e2 - 36 c02 c2 e2 + 36 c0 c22 e2 -

12 c23 e2 - 8 e0 e2 + 56 c02 c2 e1 t - 54 c0 c22 e1 t + 18 c23 e1 t - 4 e0 e1 t -

8 e1 e2 t + 18 c03 e3 t - 18 c02 c2 e3 t + 18 c0 c22 e3 t - 6 c23 e3 t - 12 e0 e3 t -

96 c03 c23 t2 + 64 c02 c24 t2 - 16 c0 c25 t2 + 56 c0 c22 e0 t2 - 24 c23 e0 t2 -

3 e12 t2 + 48 c02 c2 e2 t2 - 36 c0 c22 e2 t2 + 12 c23 e2 t2 - 8 e0 e2 t2 - 4 e22 t2 -

10 e1 e3 t2 + 16 c03 e4 t2 - 16 e0 e4 t2 + 46 c0 c22 e1 t3 - 18 c23 e1 t3 - 8 e1 e2 t3 +

40 c02 c2 e3 t3 - 18 c0 c22 e3 t3 + 6 c23 e3 t3 - 12 e0 e3 t3 - 8 e2 e3 t3 - 12 e1 e4 t3 -

64 c02 c24 t4 + 16 c0 c25 t4 + 16 c23 e0 t4 + 36 c0 c22 e2 t4 - 12 c23 e2 t4 - 4 e22 t4 -

10 e1 e3 t4 - 3 e32 t4 + 32 c02 c2 e4 t4 - 16 e0 e4 t4 - 8 e2 e4 t4 + 12 c23 e1 t5 +

26 c0 c22 e3 t5 - 6 c23 e3 t5 - 8 e2 e3 t5 - 12 e1 e4 t5 - 4 e3 e4 t5 - 16 c0 c25 t6 +

8 c23 e2 t6 - 3 e32 t6 + 16 c0 c22 e4 t6 - 8 e2 e4 t6 + 4 c23 e3 t7 - 4 e3 e4 t7M,

q0 + q1 t + q2 t^2 + q3 t^3 + q4 t^4 + q5 t^5 + q6 t^6, tF

Therefore g0 is

In[95]:= Simplify@Coefficient@Rem1, t, 0D + b11 ga01 + b12 ga02 + b13 ga03D

Out[95]= 9Ic23 I24 e02
+ e12

- 12 e0 e2M + e0 e32
- 24 c02 c2 e0 Ic23

- e4M - 24 e02 e4 - e12 e4 +

12 e0 e2 e4 + c03 I12 c23 e2 - e32
- 12 e2 e4MM � I2 Hc0 - c2L Ic23

- e4MM=

In[96]:= g0 := 9Ic23 I24 e02 + e12 - 12 e0 e2M + e0 e32 - 24 c02 c2 e0 Ic23 - e4M - 24 e02 e4 - e12 e4 +

12 e0 e2 e4 + c03 I12 c23 e2 - e32 - 12 e2 e4MM � I2 Hc0 - c2L Ic23 - e4MM=

g1 is

In[97]:= Simplify@Coefficient@Rem1, t, 1D + b11 ga11 + b12 ga12 + b13 ga13D

Out[97]= 9Ie1 e32
+ 2 c23 H21 e0 e1 - 4 e1 e2 - 7 e0 e3L - 26 c02 c2 e1 Ic23

- e4M + 14 c03 e3 Ic23
- e4M -

42 e0 e1 e4 + 8 e1 e2 e4 + 14 e0 e3 e4M � I2 Hc0 - c2L Ic23
- e4MM=

In[98]:= g1 := 9Ie1 e32 + 2 c23 H21 e0 e1 - 4 e1 e2 - 7 e0 e3L - 26 c02 c2 e1 Ic23 - e4M +

14 c03 e3 Ic23 - e4M - 42 e0 e1 e4 + 8 e1 e2 e4 + 14 e0 e3 e4M � I2 Hc0 - c2L Ic23 - e4MM=

g2 is

In[99]:= Simplify@Coefficient@Rem1, t, 2D + b11 ga21 + b12 ga22 + b13 ga23D

Out[99]= 9Ie0 e32
+ e2 e32

- 32 c0 c22 e0 Ic23
- e4M - 19 e12 e4 - 24 e0 e2 e4 + 8 e22 e4 + 8 e1 e3 e4 +

16 c03 Ic23
- e4M e4 + 16 e0 e42

+ c23 I19 e12
+ 24 e0 e2 - 8 e22

- 8 e1 e3 - 16 e0 e4M +

c02 c2 I8 c23 e2 - 3 e32
- 8 e2 e4MM � I2 Hc0 - c2L Ic23

- e4MM=

In[100]:= g2 :=

9Ie0 e32 + e2 e32 - 32 c0 c22 e0 Ic23 - e4M - 19 e12 e4 - 24 e0 e2 e4 + 8 e22 e4 + 8 e1 e3 e4 +

16 c03 Ic23 - e4M e4 + 16 e0 e42 + c23 I19 e12 + 24 e0 e2 - 8 e22 - 8 e1 e3 - 16 e0 e4M +

c02 c2 I8 c23 e2 - 3 e32 - 8 e2 e4MM � I2 Hc0 - c2L Ic23 - e4MM=

g3 is
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In[101]:= Simplify@Coefficient@Rem1, t, 3D + b11 ga31 + b12 ga32 + b13 ga33D

Out[101]= 9Ie1 e32
+ e33

- 36 c0 c22 e1 Ic23
- e4M +

12 c02 c2 e3 Ic23
- e4M - 22 e1 e2 e4 - 16 e0 e3 e4 + 14 e2 e3 e4 + 8 e1 e42

+

2 c23 H11 e1 e2 + 8 e0 e3 - 7 e2 e3 - 4 e1 e4LM � I2 Hc0 - c2L Ic23
- e4MM=

In[102]:= g3 := 9Ie1 e32 + e33 - 36 c0 c22 e1 Ic23 - e4M +

12 c02 c2 e3 Ic23 - e4M - 22 e1 e2 e4 - 16 e0 e3 e4 + 14 e2 e3 e4 + 8 e1 e42 +

2 c23 H11 e1 e2 + 8 e0 e3 - 7 e2 e3 - 4 e1 e4LM � I2 Hc0 - c2L Ic23 - e4MM=

g4 is

In[103]:= Simplify@Coefficient@Rem1, t, 4D + b11 ga41 + b12 ga42 + b13 ga43D

Out[103]= 9I-8 c26 e0 - 4 c0 c25 e2 + 16 c02 c24 e4 - 4 e22 e4 - 16 c02 c2 e42
-

2 e4 I8 e1 e3 - 3 e32
+ 4 e0 e4M + c23 I4 e22

+ 16 e1 e3 - 5 e32
+ 16 e0 e4 - 12 e2 e4M +

c0 c22 I-3 e32
+ 4 e2 e4M + e2 Ie32

+ 12 e42MM � I2 Hc0 - c2L Ic23
- e4MM=

In[104]:= g4 := 9I-8 c26 e0 - 4 c0 c25 e2 + 16 c02 c24 e4 - 4 e22 e4 - 16 c02 c2 e42 -

2 e4 I8 e1 e3 - 3 e32 + 4 e0 e4M + c23 I4 e22 + 16 e1 e3 - 5 e32 + 16 e0 e4 - 12 e2 e4M +

c0 c22 I-3 e32 + 4 e2 e4M + e2 Ie32 + 12 e42MM � I2 Hc0 - c2L Ic23 - e4MM=

g5 is

In[105]:= Simplify@Coefficient@Rem1, t, 5D + b11 ga51 + b12 ga52 + b13 ga53D

Out[105]= 9I-10 c26 e1 - 2 c0 c25 e3 + e33
+ 2 c0 c22 e3 e4 - 4 e2 e3 e4 - 10 e1 e42

+

6 e3 e42
+ c23 H4 e2 e3 + 20 e1 e4 - 6 e3 e4LM � I2 Hc0 - c2L Ic23

- e4MM=

In[106]:= g5 := 9I-10 c26 e1 - 2 c0 c25 e3 + e33 + 2 c0 c22 e3 e4 - 4 e2 e3 e4 - 10 e1 e42 +

6 e3 e42 + c23 H4 e2 e3 + 20 e1 e4 - 6 e3 e4LM � I2 Hc0 - c2L Ic23 - e4MM=

In[107]:= Cancel@Simplify@BT2DD

Out[107]= :
1

2 Hc0 - c2L

I20 c02 c2 e1 - 18 c0 c22 e1 + 6 c23 e1 - 4 e1 e2 + 18 c03 e3 - 54 c02 c2 e3 + 54 c0 c22 e3 -

18 c23 e3 - 64 c03 c23 t + 96 c02 c24 t - 64 c0 c25 t + 16 c26 t - e12 t + 40 c02 c2 e2 t -

36 c0 c22 e2 t + 12 c23 e2 t - 4 e22 t - 6 e1 e3 t + 24 c03 e4 t - 72 c02 c2 e4 t +

72 c0 c22 e4 t - 24 c23 e4 t + 22 c0 c22 e1 t2
- 6 c23 e1 t2

- 4 e1 e2 t2
+ 60 c02 c2 e3 t2

-

54 c0 c22 e3 t2
+ 18 c23 e3 t2

- 12 e2 e3 t2
- 8 e1 e4 t2

- 96 c02 c24 t3
+

64 c0 c25 t3
- 16 c26 t3

+ 44 c0 c22 e2 t3
- 12 c23 e2 t3

- 4 e22 t3
- 6 e1 e3 t3

-

9 e32 t3
+ 80 c02 c2 e4 t3

- 72 c0 c22 e4 t3
+ 24 c23 e4 t3

- 16 e2 e4 t3
+ 8 c23 e1 t4

+

66 c0 c22 e3 t4
- 18 c23 e3 t4

- 12 e2 e3 t4
- 8 e1 e4 t4

- 24 e3 e4 t4
- 64 c0 c25 t5

+

16 c26 t5
+ 16 c23 e2 t5

- 9 e32 t5
+ 88 c0 c22 e4 t5

- 24 c23 e4 t5
- 16 e2 e4 t5

-

16 e42 t5
+ 24 c23 e3 t6

- 24 e3 e4 t6
- 16 c26 t7

+ 32 c23 e4 t7
- 16 e42 t7M>
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In[108]:= Rem2 := PolynomialRemainderB

1

2 Hc0 - c2L
I20 c02 c2 e1 - 18 c0 c22 e1 + 6 c23 e1 - 4 e1 e2 + 18 c03 e3 - 54 c02 c2 e3 +

54 c0 c22 e3 - 18 c23 e3 - 64 c03 c23 t + 96 c02 c24 t - 64 c0 c25 t + 16 c26 t - e12 t +

40 c02 c2 e2 t - 36 c0 c22 e2 t + 12 c23 e2 t - 4 e22 t - 6 e1 e3 t + 24 c03 e4 t -

72 c02 c2 e4 t + 72 c0 c22 e4 t - 24 c23 e4 t + 22 c0 c22 e1 t2 - 6 c23 e1 t2 -

4 e1 e2 t2 + 60 c02 c2 e3 t2 - 54 c0 c22 e3 t2 + 18 c23 e3 t2 - 12 e2 e3 t2 - 8 e1 e4 t2 -

96 c02 c24 t3 + 64 c0 c25 t3 - 16 c26 t3 + 44 c0 c22 e2 t3 - 12 c23 e2 t3 - 4 e22 t3 -

6 e1 e3 t3 - 9 e32 t3 + 80 c02 c2 e4 t3 - 72 c0 c22 e4 t3 + 24 c23 e4 t3 - 16 e2 e4 t3 +

8 c23 e1 t4 + 66 c0 c22 e3 t4 - 18 c23 e3 t4 - 12 e2 e3 t4 - 8 e1 e4 t4 - 24 e3 e4 t4 -

64 c0 c25 t5 + 16 c26 t5 + 16 c23 e2 t5 - 9 e32 t5 + 88 c0 c22 e4 t5 - 24 c23 e4 t5 -

16 e2 e4 t5 - 16 e42 t5 + 24 c23 e3 t6 - 24 e3 e4 t6 - 16 c26 t7 + 32 c23 e4 t7 - 16 e42 t7M,

q0 + q1 t + q2 t^2 + q3 t^3 + q4 t^4 + q5 t^5 + q6 t^6, tF

Therefore h0 is

In[109]:= Simplify@Coefficient@Rem2, t, 0D + b21 ga01 + b22 ga02 + b23 ga03D

Out[109]= 9I2 c05 c2 e1 - 2 c02 c2 e0 e1 - e13
+ 4 e0 e1 e2 + 10 c06 e3 +

e02 H-6 e1 + 10 e3L + c03 H6 e0 e1 - 4 e1 e2 - 20 e0 e3LM � I2 Hc0 - c2L Ic03
- e0MM=

In[110]:= h0 := 9I2 c05 c2 e1 - 2 c02 c2 e0 e1 - e13 + 4 e0 e1 e2 + 10 c06 e3 +

e02 H-6 e1 + 10 e3L + c03 H6 e0 e1 - 4 e1 e2 - 20 e0 e3LM � I2 Hc0 - c2L Ic03 - e0MM=

h1 is

In[111]:= Simplify@Coefficient@Rem2, t, 1D + b21 ga11 + b22 ga12 + b23 ga13D

Out[111]= 9I-16 c04 c22 e0 + 16 c0 c22 e02
+ 4 c05 c2 e2 - e12 e2 + c02 c2 I3 e12

- 4 e0 e2M +

e0 I-6 e12
+ 4 e22

+ 16 e1 e3M + 8 c06 e4 + e02 H-12 e2 + 8 e4L +

c03 I5 e12
+ 12 e0 e2 - 4 e22

- 16 e1 e3 - 16 e0 e4MM � I2 Hc0 - c2L Ic03
- e0MM=

In[112]:= h1 := 9I-16 c04 c22 e0 + 16 c0 c22 e02 + 4 c05 c2 e2 - e12 e2 + c02 c2 I3 e12 - 4 e0 e2M +

e0 I-6 e12 + 4 e22 + 16 e1 e3M + 8 c06 e4 + e02 H-12 e2 + 8 e4L +

c03 I5 e12 + 12 e0 e2 - 4 e22 - 16 e1 e3 - 16 e0 e4MM � I2 Hc0 - c2L Ic03 - e0MM=

h2 is

In[113]:= Simplify@Coefficient@Rem2, t, 2D + b21 ga21 + b22 ga22 + b23 ga23D

Out[113]= 9-I12 c04 c22 e1 - 12 c0 c22 e0 e1 + e13
- 36 c05 c2 e3 +

36 c02 c2 e0 e3 + e12 e3 + 2 e0 H4 e0 - 11 e2L e3 + 2 e0 e1 H7 e2 - 8 e4L -

2 c03 H7 e1 e2 + 4 e0 e3 - 11 e2 e3 - 8 e1 e4LM � I2 Hc0 - c2L Ic03
- e0MM=

In[114]:= h2 := 9-I12 c04 c22 e1 - 12 c0 c22 e0 e1 + e13 - 36 c05 c2 e3 +

36 c02 c2 e0 e3 + e12 e3 + 2 e0 H4 e0 - 11 e2L e3 + 2 e0 e1 H7 e2 - 8 e4L -

2 c03 H7 e1 e2 + 4 e0 e3 - 11 e2 e3 - 8 e1 e4LM � I2 Hc0 - c2L Ic03 - e0MM=

h3 is
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In[115]:= Simplify@Coefficient@Rem2, t, 3D + b21 ga31 + b22 ga32 + b23 ga33D

Out[115]= 9I16 c23 e02
- 8 c04 c22 e2 - e12 e2 - 8 e0 e22

+ c0 c22 I3 e12
+ 8 e0 e2M - 8 e0 e1 e3 +

19 e0 e32
+ 32 c05 c2 e4 - 32 c02 c2 e0 e4 - 16 e02 e4 - e12 e4 + 24 e0 e2 e4 + c03

I-16 c23 e0 + 8 e22
+ 8 e1 e3 - 19 e32

+ 16 e0 e4 - 24 e2 e4MM � I2 Hc0 - c2L Ic03
- e0MM=

In[116]:= h3 := 9I16 c23 e02 - 8 c04 c22 e2 - e12 e2 - 8 e0 e22 + c0 c22 I3 e12 + 8 e0 e2M - 8 e0 e1 e3 +

19 e0 e32 + 32 c05 c2 e4 - 32 c02 c2 e0 e4 - 16 e02 e4 - e12 e4 + 24 e0 e2 e4 +

c03 I-16 c23 e0 + 8 e22 + 8 e1 e3 - 19 e32 + 16 e0 e4 - 24 e2 e4MM � I2

Hc0 - c2L Ic03 - e0MM=

h4 is

In[117]:= Simplify@Coefficient@Rem2, t, 4D + b21 ga41 + b22 ga42 + b23 ga43D

Out[117]= 9-I-14 c23 e0 e1 - 26 c04 c22 e3 + 26 c0 c22 e0 e3 + e12 e3 + 8 e0 e2 e3 + 14 e0 e1 e4 -

42 e0 e3 e4 + 2 c03 I7 c23 e1 - 4 e2 e3 - 7 e1 e4 + 21 e3 e4MM � I2 Hc0 - c2L Ic03
- e0MM=

In[118]:= h4 :=

9-I-14 c23 e0 e1 - 26 c04 c22 e3 + 26 c0 c22 e0 e3 + e12 e3 + 8 e0 e2 e3 + 14 e0 e1 e4 - 42 e0

e3 e4 + 2 c03 I7 c23 e1 - 4 e2 e3 - 7 e1 e4 + 21 e3 e4MM � I2 Hc0 - c2L Ic03 - e0MM=

h5 is

In[119]:= Simplify@Coefficient@Rem2, t, 5D + b21 ga51 + b22 ga52 + b23 ga53D

Out[119]= 9Ic23 Ie12
+ 12 I-c03

+ e0M e2M + e0 e32
+ 24 c0 c22 Ic03

- e0M e4 - e12 e4 - 12 e0 e2 e4 +

24 e0 e42
- c03 Ie32

- 12 e2 e4 + 24 e42MM � I2 Hc0 - c2L Ic03
- e0MM=

In[120]:= h5 := 9Ic23 Ie12 + 12 I-c03 + e0M e2M + e0 e32 + 24 c0 c22 Ic03 - e0M e4 - e12 e4 -

12 e0 e2 e4 + 24 e0 e42 - c03 Ie32 - 12 e2 e4 + 24 e42MM � I2 Hc0 - c2L Ic03 - e0MM=

In[121]:= f1 := 2 Hc0 - c2L Hc0^3 - e0L Hc2^3 - e4L H5 h0 - g1L

In[122]:= f2 := 2 Hc0 - c2L Hc0^3 - e0L Hc2^3 - e4L H2 h1 - g2L

In[123]:= f3 := 2 Hc0 - c2L Hc0^3 - e0L Hc2^3 - e4L Hh2 - g3L

In[124]:= f4 := 2 Hc0 - c2L Hc0^3 - e0L Hc2^3 - e4L Hh3 - 2 g4L

In[125]:= f5 := 2 Hc0 - c2L Hc0^3 - e0L Hc2^3 - e4L Hh4 - 5 g5L

In[126]:= Collect@f1, 8e1, e3<, SimplifyD

Out[126]= :e1 II-c03
+ e0M e32

+ 12 Ic03
- e0M I3 c02 c2 - e0 - e2M Ic23

- e4MM +

36 Ic03
- e0M

2
e3 Ic23

- e4M + e13 I-5 c23
+ 5 e4M>

In[127]:= Collect@f2, 8e1, e3<, SimplifyD

Out[127]= 9Ic03
- e0M I3 c02 c2 - e0 - e2M e32

-

e12 I9 c03
- 6 c02 c2 - 7 e0 + 2 e2M Ic23

- e4M - 24 Ic03
- e0M e1 e3 Ic23

- e4M=

In[128]:= Collect@f3, 8e1, e3<, SimplifyD

Out[128]= 9I-c03
+ e0M e33

+ e1 II-c03
+ e0M e32

+ 8 Ic03
- e0M Ic23

- e4M I3 c0 c22
- e2 - e4MM +

8 Ic03
- e0M I3 c02 c2 - e0 - e2M e3 Ic23

- e4M + e13 I-c23
+ e4M + e12 e3 I-c23

+ e4M=
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In[129]:= Collect@f4, 8e1, e3<, SimplifyD

Out[129]= 9-24 Ic03
- e0M e1 e3 Ic23

- e4M +

e12 Ic23
- e4M I3 c0 c22

- e2 - e4M + Ic03
- e0M e32 I6 c0 c22

- 9 c23
- 2 e2 + 7 e4M=

In[130]:= Collect@f5, 8e1, e3<, SimplifyD

Out[130]= :I-5 c03
+ 5 e0M e33

+ 36 Ic03
- e0M e1 Ic23

- e4M
2

+

12 Ic03
- e0M e3 Ic23

- e4M I3 c0 c22
- e2 - e4M + e12 e3 I-c23

+ e4M>

In[131]:= Collect@f2 - f4, 8e1, e3<, SimplifyD

Out[131]= 9Ic03
- e0M e32 I3 c02 c2 - 6 c0 c22

+ 9 c23
- e0 + e2 - 7 e4M -

e12 Ic23
- e4M I9 c03

- 6 c02 c2 + 3 c0 c22
- 7 e0 + e2 - e4M=

In[132]:= SimplifyACancelAIIc03 - e0M I3 c02 c2 - 6 c0 c22 + 9 c23 - e0 + e2 - 7 e4MM

IIc03 - e0M I3 c02 c2 - e0 - e2M e32 - e12 I9 c03 - 6 c02 c2 - 7 e0 + 2 e2M Ic23 - e4MM^2 -

I24 Ic03 - e0M e1 e3 Ic23 - e4MM^2 �.

9e1 ® 1, e3 ®
,IIc23 - e4M I9 c03 - 6 c02 c2 + 3 c0 c22 - 7 e0 + e2 - e4M �

IIc03 - e0M I3 c02 c2 - 6 c0 c22 + 9 c23 - e0 + e2 - 7 e4MMM=EE

Out[132]= J9 Ic03
- e0M Ic23

- e4M
2

J-64 Ic23
- e4M I9 c03

- 6 c02 c2 + 3 c0 c22
- 7 e0 + e2 - e4M +

I18 c04 c22
+ 3 c23 H7 e0 - 2 e2L + 5 e0 e2 - e22

+ 3 c0 c22 H-5 e0 + e2L -

3 c03 I12 c23
+ 2 e2 - 7 e4M + 3 c02 c2 I6 c23

+ e2 - 5 e4M - 16 e0 e4 + 5 e2 e4M
2
NN �

I3 c02 c2 - 6 c0 c22
+ 9 c23

- e0 + e2 - 7 e4M

In[133]:= CollectB

ExpandBJ-64 Ic23 - e4M I9 c03 - 6 c02 c2 + 3 c0 c22 - 7 e0 + e2 - e4M + I18 c04 c22 + 3 c23

H7 e0 - 2 e2L + 5 e0 e2 - e22 + 3 c0 c22 H-5 e0 + e2L - 3 c03 I12 c23 + 2 e2 - 7 e4M +

3 c02 c2 I6 c23 + e2 - 5 e4M - 16 e0 e4 + 5 e2 e4M
2
NF, e0, SimplifyF

Out[133]= 324 c08 c24
+ 36 c26 e22

+ e24
+ 9 c06 I216 c26

+ 12 c23 H5 e2 - 19 e4L + H2 e2 - 7 e4L2M -

108 c07 c22 I12 c23
+ 2 e2 - 7 e4M + 64 e2 e4 - 10 e23 e4 - 64 e42

+ 25 e22 e42
+

e02 I15 c0 c22
- 21 c23

- 5 e2 + 16 e4M
2

+ 4 c23 I-16 e2 + 3 e23
+ 16 e4 - 15 e22 e4M -

6 c0 c22 Ie23
+ c23 I32 + 6 e22M - 32 e4 - 5 e22 e4M -

18 c05 c2 I72 c26
+ 2 e22

+ 6 c23 H3 e2 - 17 e4L - 17 e2 e4 + 35 e42M +

9 c04 c22 I36 c26
- 7 e22

+ 24 e2 e4 + 25 e42
- 12 c23 H3 e2 + 5 e4LM +

6 c03 I90 c26 e2 + 2 e23
+ 96 e4 - 17 e22 e4 + 35 e2 e42

+ 3 c23 I-32 + 9 e22
- 39 e2 e4MM -

2 e0 I-378 c02 c27
+ 5 e23

- 153 c0 c25 I6 c03
+ e2M + 18 c26 I57 c03

+ 7 e2M - 3 c0 c22

I3 c03 H20 e2 - 67 e4L + e2 H10 e2 - 41 e4LM + 224 e4 - 41 e22 e4 + 80 e2 e42
+ 9 c02 c24

I30 c03
- 12 e2 + 67 e4M + c23 I-224 + 51 e22

+ 27 c03 H13 e2 - 46 e4L - 201 e2 e4M -

3 c02 c2 I5 e22
- 41 e2 e4 + 80 e42M + 3 c03 I10 e22

- 67 e2 e4 + 112 e42MM - 3 c02 c2

I72 c26 e2 + c23 I-128 + 21 e22
- 120 e2 e4M + 2 Ie23

+ 64 e4 - 10 e22 e4 + 25 e2 e42MM
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In[134]:= SimplifyBCoefficientBJ-64 Ic23 - e4M I9 c03 - 6 c02 c2 + 3 c0 c22 - 7 e0 + e2 - e4M +

I18 c04 c22 + 3 c23 H7 e0 - 2 e2L + 5 e0 e2 - e22 + 3 c0 c22 H-5 e0 + e2L - 3 c03

I12 c23 + 2 e2 - 7 e4M + 3 c02 c2 I6 c23 + e2 - 5 e4M - 16 e0 e4 + 5 e2 e4M
2
N, e0, 2FF

Out[134]= I15 c0 c22
- 21 c23

- 5 e2 + 16 e4M
2

In[135]:= SimplifyBCoefficientBJ-64 Ic23 - e4M I9 c03 - 6 c02 c2 + 3 c0 c22 - 7 e0 + e2 - e4M +

I18 c04 c22 + 3 c23 H7 e0 - 2 e2L + 5 e0 e2 - e22 + 3 c0 c22 H-5 e0 + e2L - 3 c03

I12 c23 + 2 e2 - 7 e4M + 3 c02 c2 I6 c23 + e2 - 5 e4M - 16 e0 e4 + 5 e2 e4M
2
N, e0, 1FF

Out[135]= -2 I-378 c02 c27
+ 5 e23

- 153 c0 c25 I6 c03
+ e2M +

18 c26 I57 c03
+ 7 e2M - 3 c0 c22 I3 c03 H20 e2 - 67 e4L + e2 H10 e2 - 41 e4LM +

224 e4 - 41 e22 e4 + 80 e2 e42
+ 9 c02 c24 I30 c03

- 12 e2 + 67 e4M +

c23 I-224 + 51 e22
+ 27 c03 H13 e2 - 46 e4L - 201 e2 e4M -

3 c02 c2 I5 e22
- 41 e2 e4 + 80 e42M + 3 c03 I10 e22

- 67 e2 e4 + 112 e42MM

In[136]:= SimplifyBCoefficientBJ-64 Ic23 - e4M I9 c03 - 6 c02 c2 + 3 c0 c22 - 7 e0 + e2 - e4M +

I18 c04 c22 + 3 c23 H7 e0 - 2 e2L + 5 e0 e2 - e22 + 3 c0 c22 H-5 e0 + e2L - 3 c03

I12 c23 + 2 e2 - 7 e4M + 3 c02 c2 I6 c23 + e2 - 5 e4M - 16 e0 e4 + 5 e2 e4M
2
N, e0, 0FF

Out[136]= 324 c08 c24
+ 36 c26 e22

+ e24
+ 9 c06 I216 c26

+ 12 c23 H5 e2 - 19 e4L + H2 e2 - 7 e4L2M -

108 c07 c22 I12 c23
+ 2 e2 - 7 e4M + 64 e2 e4 - 10 e23 e4 -

64 e42
+ 25 e22 e42

+ 4 c23 I-16 e2 + 3 e23
+ 16 e4 - 15 e22 e4M -

6 c0 c22 Ie23
+ c23 I32 + 6 e22M - 32 e4 - 5 e22 e4M -

18 c05 c2 I72 c26
+ 2 e22

+ 6 c23 H3 e2 - 17 e4L - 17 e2 e4 + 35 e42M +

9 c04 c22 I36 c26
- 7 e22

+ 24 e2 e4 + 25 e42
- 12 c23 H3 e2 + 5 e4LM + 6 c03

I90 c26 e2 + 2 e23
+ 96 e4 - 17 e22 e4 + 35 e2 e42

+ 3 c23 I-32 + 9 e22
- 39 e2 e4MM - 3 c02

c2 I72 c26 e2 + c23 I-128 + 21 e22
- 120 e2 e4M + 2 Ie23

+ 64 e4 - 10 e22 e4 + 25 e2 e42MM
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